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Soustraction (Horizontale)

Nom:

Résoudr e chaque probleme.

1) 5 602 - 56 =

2 7 149 - 2 053 =

3 912 - 28

4 27 -9 =

5 62 - 55 =

6) 8 445 - 952 =

) 8 267 - 8 =

8 54 - 34 =

9 558 - 22

10) 592 - 2 =

11) 437 - 142 =

12) 8 257 - 3 592 =

Réponses

10.

11

12.

[ Maths ] www.CommonCoreShests.fr

1-10
11-12

92

75|67 [58[50( 4233|2517 |




.

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

Soustraction (Horizontale) Nom: Clé
Résoudr e chaque probleme. Réponses
1 5 546
1) 5 602 - 56 = 5 546
2. 5 096
7 149 - 2 053 = 5 096 3. 884
4. 18
912 - 28 = 884
5, 7
27 - 9 18 6 (493
7. 8 259
62 - 55 = V4 o 20
9. 536
8 445 - 952 = 7 493
10. 590
8 267 - 8 = 8 259 11, 295
12, 4 665
54 - 34 = 20
558 - 22 = 536
592 - 2 = 590
437 - 142 = 295
8 257 - 3 592 = 4 665

12)
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C:# Soustraction (Horizontale)

Nom:

Résoudr e chaque probleme.

Réponses

7 493 8 259 590 5 096
884 536 20 5 546

v .

1) 5 602 - 56 =

2) 7 149 - 2 053 =

3 912 - 28 =
4 27 -9 =
62 - 55 =

6) 8 445 - 952 =

) 8 267 - 8 =

8 54 - 34 =

9 558 - 22 =

10) 592 - 2 =

10.
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[ Maths ] www.CommonCoreShests.fr 3

1-10 90|80 70|60 |50]40]30]20[10] O |




	Fiche d’exercices
	Clé
	Modifié

